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B.Sc. lIL Year Examination, 2018

Botany (Environmental Botany)
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1. The most stable natural ecosystemcouldbe:  {. &Rl WU UIGfeid FHIRICH &1 Al &
() Forest (b) Desert (a) 5T (b) WU (c) WIE  (d) AT
L{eyOcean (d) Pond 2 wagaRRuR wafed 2-
2. Autoecology deals with : : et 25 TR
(a) Ecology of species |_— (@ i & TR &
(b) Ecology of many species (b) o SfrorfRredy 2
(c) Ecology of community . (c) Fga |
(d) All of the above . (d) IR T
3.  Which one is correct match : 3. & PF- 98 g 82
(a) Ecology-A.G. Tansley (a) TikfRfaedr-vo Mo S=act
(b) Ecosystem-E.Haeckel (b) TIRRifda-30 gt
(c) Both (a) and (b) l © (@) g (b) 241
L 4. g’?esl;i;::trzl::t Sf fi/n\:g\;I :Dsr(;r;n;n:; onearthis: (31?1)1%?{ 3?!37 5 j:_;z; s 7ol W 3
: (a) Ecosystem’ (b) Biome . ) ' 1
(c) Biosphere{__~ (d) Population @) mﬁﬁwﬁﬁ @ (b) m
| 5.  <Plantation is deforested areas is known as : (c) SraHuse (d)- ST
3 (a) Deforestation  (b) Reforestation |_—~7 5. FHCTS 5?) o= &A1 § IS T HECTEr 8-
(c) Afforestation (d) Both (b) and (c) (a) TR (b) g:r:a:'ﬁar\rm
Project Tiger was launched in India in the year : (c) aTaoT (d) (b) T (c) A=Y
1973 (b) 1975 (c) 1978 (d) 1990 6. T U e .
7. L:V(‘;/lstern fhats and Eastern Himalayas are (a) 1973 (b)aF;R_/_sﬁ(gE;?’g”:S@g(:;990
amous a . _ _
(a) National Park  (b) Sanctuary 7. U O 3R gt e g e F wRig E-
(c) Hot spots{_~"  (d) None of the above (@) W 34U (b) JATRY
8.  Mostly what type of plants present in the Indus "~ (c) EIC WIcH (d) SR § I B =rg?f
Plain region ? 8. aifermiera: mﬁqﬁ%mma‘o@}ﬁqﬁaﬁ-
(a) Evergreen (b) Xerophytic g?
\_~(¢c) Both (a) and (b) (d) None of the above (a) '\qa'ragm (b) Wﬁrc:
9. Mulching helps in: . (© (a) o9 (b) (d) m N T@T Efl?lg :IE?f
(a) Soil fertility L 9.  Wicam Weg @Rar ¥-
(b) Soil and moisture conservation (a . _ ' .
(c) Mud formation (C)) %’:; aqﬁlanaiiﬁ” A EZ; ;liﬁfﬁ =TI TRaqor B
(d) Fish cultivation 10, T o ?ﬁ?ﬁ:{ q
'40. Match List-1 with List-1l and select the correct. el ﬁqﬁ@aﬁ' i Afﬁz‘;m}w 5
| answer using the codes given below the lists : RSP TE IR -
List-I List-ll ' .‘T:'ﬂ ﬁfh I
” Ashtamudi 1. Jammu & Kashmir : 311\‘%13’} 1, S
b. Chilka 2. Kerala _ b. Rretar 5 et
c. Ujni 3. Maharag.htra c. 35 %
d. Wullar 4. Orissa d. 7o 4- 3;':?
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M. if the individuals of organisms in any
€cosystem distributed equally among the
different species, diversity would be :

(@) Maximum' (b) Minimum
\_ierOptimum (d) Zero

12.  The National Parks nf our country emphasize

at protecting the :

(a) Flora only

(b) Fauna only
\_(eyBoth flora and fauna

(d) Entire ecosystem

A3.  Waich one of the following pair is mlsmatched?
(a) Pyramid of nuruber-Upright or inverted
(b) Pyramid of energy-Always upright

Pyramid of mass-Always inverted
(d) None of the above
14. ~ Zoo, botanical gardens and seed banks are
examples of :
(a) In situ conservation
\_#b) Ex situ conservation
(c) Both (a) and (b)
(d) None of the above :

15. Which have been setup to take care of natural

heritage ?
(a) Setting up of National Parks
(b) Setting up of Wildlife Sanctuaries
(c) Setting up of Zoological Gardens

t_~dr All of the above

M6, e is an example of biosphere reserve of
India :
(a) Corbett perk (b) Kawal
\_+4crPachmarhi (d) Guindy

17. Which one of the following is not situated in
Uttar Pradesh ?
(a) Bakhira Wildlife Sanctuary
(b) Hastinapur Wildlite Sanctuary
(©) Chandraprabha wildlife Sanctuary

\_¢d) Manas Wildlife Sanctuary
18. Who sacrified her life to protect the Khejri

trees ?

V(’TAmnta Devi Bishnoi

(b) Gaura Devi
(c) Sudesha Devi
(d) Bachni Devi

11,

42,

13

14.

15.

16.

17.

18

x |
a b ¢ d a b c d‘
(@2 4 3 1 by2 4 1 3
4 2 3 1 (4 2 1 3

e el Ry o o gd afadand Sl

o1 fir=r st 3 e w5 W fGaver 8, ar S

fafir=tar eni-

(a) 31ferHan (b) =LTaH

(c) ATHIRI (d) 7T

FAR 97 & TSI I G R FR & &~
(a) PacT TART R

(b) acT B3 T

(c) TEIRT Ud B3 AF W

(d) R sRRefia! a5 )

frer o I SH-1 e g 22

(a) TT &1 fexifas-3ten ar 3eeT

(b) F3ii 1 fURTBs-gqem e

(c) ¥R @I foRIfis-gHem 3eet

(d) IWGd H T DS T

TSTUEER, d9ufd el 31k 157 db 3aTexvr 8-
(a) 37 NIg TREIUT & (b) UST Hig; &I &
(€) (@) Td (b) SFT  (d) WG | I B Tl
wﬁmﬁmaﬁmkﬁumﬁa%@w
P &-

(a) T T DI RAMIT IS

(b) TTGNa ATRRT B RAMIT IRb

(c) SJciifoTahet TS BT AT TR

(d) IRIad T

.......... YRd & SilgAvsa Rad &I vP ISERT
(a) PIEC UTH " (b) PIact

(c) TaHg! (d) ST

=1 & -0 IR WS ¥ Ry 78 &2

(a) SERT Fsia Japry -

(b) ERAATR a=Taita Wareprdy

(c) T3 a=5ita Hargary

(d) AN =1t fareary

WoRT U3T & IR&N IR & fore ey arq shad
@1 afereH fear?

(a) 3ar &4t fge g (b) kT &

(c) g &t (d) gerT A

el
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19.

20.

21.

~ Which one of the following is not inciuded

under conservation -

(a) National Park  (b) Wildlife Sanctua

(9] Qene Bank ° (d) Herbarium L/'ry
V\{hlfh one of the following match is incorrect ?
(a) Sunderban-West Bengal |
(b) Gir forest-Gujarat

(c) Jim-Corbett-Uttarakhand

(d) Bandipur-U.P. | —- -
Silent Valley Movement succeeded in :

(a) Waste management in the sea coast

4__(b) Cancelling the State Government Hydel

| 22.

1 23.

. WClements

24.

25.
26.

27.

28.

29.

WF orest fire

Project . :
(c) Promoting marine fishery business in

Kerala
(d) Generating power
Which  of the following gas is used for
cryopreservation ?

) Liquid Nitrogen (b) Liquid Oxygen '

(c) Liquid Helium (d) Liquid Hydrogen
Monoclimax theory was advocated by :
(a) Odum (b) Tansley
(d) Mishra
Which one of the following is not a tiger
reserve ?
(a) Bandipur, Karnataka
(b) Jim Corbett, Uttarakhand
(c) Sunderban, West Bengal

(d) Bharatpur, Rajasthan 7 7
Which one of the following is not correctly

matched ?
(a) Halophytes-Trapa L

(b) Epiphytes-Orchids
(© Hydorphytes-HydriIIa .

(d) Xerophytes-Cactus 1
Green Revolution is related to which plant

crop ?

(a) Wheat e
(c) Tomato

Alpha («)d
(a) Over a large area
by Within a site ' ‘
fc)) Over an area consisting of many habitats

(d) None of the abgve _

which of the following is a S€C

¥'d

(a) CO2
Natural source of
(a) Rain forest

(b) Sunflower
(d) All of the above

iversity means, diversity :

ondary pollutant

(b)SO, (0) €O

pollution is ‘
b) Mining of minerals

(d) All of the above

L

19.

21.

22.

23.

24.

25.

| 26.

27:

28.

29.

(a) rRaT-

ﬁﬂﬁaﬂmwwﬁw%wﬁqﬁm??
(a) UL T (b) 3= S G
(c) 3 dB (d) gdRan

Ry 1 < apter-an gferet Tl &7

gf¥edt dmrer

(b) iR a-TERTT

(o) fom ao'réz-mzr@vg

(d) STER-ITR FaT

(d) ¥RAYR, TSR
Fret 3 Y Bt w gAfera & &2

(a) BTG (b) TADRCH-3TEEH
(c) EREHTGCH-EBIE (d) FRIBIECH-STH
2Ra @i &1 Traer food e I 82

(@ 75 (0) TR

() cg (d) STRre T

YT (o) ffdreran I arerdt 2, Rifdrerar-

(b) T & RN W)

(0 @ Frar & e v &

(d) IR F A B TG
Frt & 9 -3 fgdiors wewas &2
(a) C02 (b) 802 (C) CO
ST BT MGl W 2—
ke (b) TS &t ==
(© S B F () I

(d) Oy

dreamtopper.in



30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Best E-learning Platform

o . 5t 33 foz Y W g
Which one of the following is the measuring 30, Foret o R BFF-RAY B :
unit of Ozone hole ? (a) 81T ( ’zsr&a ¥ A P 5 3

" (a) Dalton Ly Dobson () S¥erct (A A e B T o
(c) Decibel (d) None of the above 31, Pl el @ sftrsar el 3
The dark region of soil profile rich in organic e Tde - 9
matter is : @0, (0, (@A (DA,
@0 o, Lfa (@A, 32. 9% gar ol e o gaIe U & WM R
A soil in which Wweathering and pedogenesis et -
occur at the same place is called : (a) 3raf¥re gar (b) BBR I TaT

L@ Residual (b) Alluvial ©FRe g (d) IR F T B T
5/(;})h§olluvial ‘ (_d)-None of the a.\boye 33, Fred ﬁ -0 FraRa gz &2

ich of the following is a metamorphic rock ? - AR (b) TR
(@) Dolomite (b) Limestone (a) ) SREE T

Slate (d) All of the above ORI @ N
The most important form of water to plants is : ~ 34.  Gtelf & fow e w9 q}_ At el T S -
(a) Gravitational ~ (b) Capillary L—"" (a) TOTHYOT (®) I_li 4 1
(c) Hygroscopic  (d) Combined () 3Tk - (d) \gad 3
Which one of the following ‘s the wetland 35, R TRIEH 5 3T SRE0T BRAHT & =
identified for conservation programme under A DIH- Jedivs B ggam &) S &2
Ramsar Convention ? (a) AT (b) FeagR I
(@) Sukhna (b) < 'ultanpur - . (c) Reretat ' (d) E;ﬁ?m'{

Chilka (d) Khajiar I % \

. 36. ¥Rd & W8 el &I TP & Wie g-
One of the hot spots of surface waters of India
is | (a) 37T (b) Tid= AR
3) Okha (b) Govind Sagar (c) &1 (d) 3&ar
(c) Barna (d) Udhwa 37. 7o =0 $0 G0 & A -
U.N.E.P. stands for : (a) Wg?a [, TaiaRoT SRiE
\./g))/ldn!'fe: fr:‘!a:‘ions Env:ror'\mcler;t Programme (b) m W Wﬁgﬂm wrfEn
nit=d Nations Ecological Programme S S ;
(c) United Nations Ecotype Programme : (©) I ’
(d) All of the above (d) IRTa weh
Raunkiaer's Normal biological spectrum js 38 IBFR & Imrr sidrg Waen W fpwa
dominated by : ‘ 3Ty @t &7

Phanerophytes (b) Chamaephytes (a) B RIBIEEE (b) FNBRe
(c) Crypto;?h'yte.s | (-d) Therophytes © W‘F‘?‘?\‘f (@) AR
Laterite soil is rich in : 39 m 1@ ¥ 3 2 R PIgC

(a) Nitrogen (b) Iron A7 ' DRIl 8-

(c) Calcium (d) Magnesium (a) g IS (b) T

Which is the characteristics feature of gz (c) Sfeeram (d) t}ﬁﬁﬁﬂm

physiologically dry soil ? ‘ 40.  @N-7 BRIDY T J BT T g?‘

(a) Light available to plants is not sufficient (2) Wtelt @ firery mwmﬁﬁma E5 g:;lmm

(b) There is plenty of waler in the soil (b) "iﬁ? ¥ 5 @ ’

Concentration of salts is very high in the soil ©) "ﬂﬁ 3 ' kIR E?I'E'ﬁ?

(d) Soil is stony T 251 A2 T aifer Bl & 3

, (d) 52 qordiedt 2y
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Nitrogen i iti - ' ) ' '
gen is a critical element of the ecosystem 41, AEGISH qRRefadT @3 @ TP ﬂ?ﬁ‘l"f da &

“because itis :

(a) Essential elements

(b) Abundant in atmosphere

(c) Fixed by microbes '

(d) Al of the above L/4

:’:::ﬂ:ceo’f) the following is a renewable
(@) Watgr (b) Forest L—"

(€) Sunlight (d) Petrol

The critical moisture content of the soil at which *
a plant is unable to draw sufficient water and
begins to wilt is known as : .
(a) Moisture content

(b) Water holding capacity

(c) Field capacity

(d) Wilting coefficient L—"_

Maximum oil (% of world) producting country
is : =
(a) Saudi Arabia  (b) US.S.R.L—7

(c) Iran (d) U.S.A. \
Which of the following is not an element cycle 7.
L_fay Water cycle (b) Nitrogen cycle

(c) Sulphur cycle  (d) Carbon cycle

Which of the following are primarily related to
biological magnification ?

(a) Aerosols (b) Pesticides L—

(c) Nitrogen oxides (d) Methane

In recycling of mineral _elements within an
ecosystem the responsible direct acting
organism zre called : -l
(a) Decomposers

(b) Primary consumers

(¢) Secondary consumers

(d) Producers

An ecosystem must have continuous external
source of : 5

(a) Minerals (b) Energy |_—"

(c) Foorl (d) All of t.he above
About 63 percent of India’s petroleum

tion is from :

?ar;)iigam (b) Mumbai High _—".
(c) Gujarat (d) Manipur . )
Which is India’s oldest oil producing state *

(a) Jharkhand (b) Arunachal Pradesh
(c) Karnataka ~ (d) Assam A
Which place in India is ideal for utilising Tida

2 , ‘
/ enecr;gu);f of Katch  (b) Gulf of Khambha
(c) Gulf of Mannar  (d) None of the above

42.

43.

44.
45.

46.

48.

49.

i a8-

(a) 3MaYaH ad & ,

(b) e # e A A 2
(0) e R Rerdaor ST E

(d) IR A

e 1 < - e A A &7
@3 (pya (o g @F
wﬁmﬁmﬁﬁﬂﬁaﬁﬁm-mm
ot e s 2 ara Sl & deT g S €,
HEeldr 6- -

(a) =Y 37eT (b) STETTET &FFCIT

(c) &rfr &7l (d) T TS

i aer (Riea i) e & 8-

(a) TN 3RT (b) B

() & (d) 3mRaT

freg 3 § BIF-T acd °e a8l 82

(a) 5T TB (b) AT TH

(c) HEHR D (d) BT TH ~
R & ¥ g wIfe o9 9 ST EET I
R 8

(a) VAT (b) PleARIG

() TSNS 3iaTgs (d) HIdH

e uikfufae a7 # st gl & T TH0T i

HEATT & 3

(a) 3TTCH (b) wTIfies Wi

(c) feas \sh (d) 3TEDH

e QIR &3 § iR a1ed | 217 wifee—
(a) WiSil e b)Fat@dm

(c) WIS BT (d) IRIET T
:Raémmesw%mﬁﬁ%wmmmm
(@) 3™ (b) s B

(€) Torera 3 (d) wfoTqR

T TR Y SR T 31 I o
(a) FIRQUg (b) 3RV sy ;
o) =i (d) 3

RS & TT5set F31 % 3901
sy e e

OB HAE (o) @ B g

(d)mﬁﬁzﬁrgqﬁ :
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L__~+a"Nuclear fission

57.

58.

59.

L—Tc) September 16

60.

61.

eyHigh degree.
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ﬂﬂd- E— Idlnl*u

Khetri mines are famous for ¥
* (a) Coal [_gs57Copper (c) Iron (d) Gold
Fossil fuel means :
(@) Hydroelectncﬂy
(b) Therraal power
L/(/(Coal crude oil and natural gas
(d) Biogas
Environmental  hazards
hydroelectric energy are ;-
(@) Destruction of animals habitat
(b) Submergence of vegetations
(c) Earthquake

All of the above : :
Nuclear power is produced from :

associated with

(b) Petroleum
(c) Wood combustion

(d) Coal combustion
DDT has been banned in many countnes
because of its :

(a) High solubility in water

(b) High toxicity to grazing mammals
of persistance in the
environment ' '

(d) Low lethal effects on pests

O, in the ozone layer is produced by the action

of :

(2) Blue radiation

(b) IR radiation
- (c) UV radiation &A—"

(d) Other visible radiations

Cadmium poilution is associated with which
~ disease ?

' (a) Blood anaemia (b) ltai-itai \—""

(c) Beri-beri - (d) Tooth decay

‘Ozone Day' is observed on :

(a) January 30 (b) April 21
(d) December 25

Which of the following is the best indicator of
sulphur dioxide pollution ?
(a) Bryophytes (b) Ferns
(c) Algae * (d) Lichens \—

It causes noise pollution when sound level .

reaches ............
(a) 40 decibels

(b) 60 decibels

(c) 70 decibels

(d) 80 decibels or above \_—""

52.

53.

54.

55.

56.

57.

58.

39,

60.

61.

@aﬁmm%’— L.
@y @ad s (b) IR & fow.

(o) e & e (o) ¥ fere
ﬁmﬂémﬁaﬁﬂé?—
OLEHELAR

(b) erfer diax

(c) BeT, et et 3R g 1R
(d) Ty

wgfgRong g RS
Ergegcifagd ol 3 8-
(a) STHER JaRT & TE BT

(b) geruferal &b gl

(c) ¥gaTeT T e

(d) IRIEd T
TS F311 a1 Bl 2

(a) TS fageT &

(b) Ygifcra 31

(c) TSl & & A

(d) PO HEETH

@5 <2l 7 DDT & TN W yfcaer & aifes—
(a) € U ¥ 31 gereic sar 8

(b) T URT TR aTeY XaenTRaT & 31feres Furee &
(c) U TIATERYT § ST &R aF T xaar &
(d) Fe A1eTe FIEl W B UTad 0T ST &

da fGAer =y

3 udf & O, F & &7 BROT & -

‘a) et fafewor & () IR fafesRor &

(©) UV fafaRorat  (d) 3= g Rifdoit &
BT ST BT e fot iy @
+ (a) Xaeqar (b) Fo-ge

(c) II-aRY (d) <& ey

a) 305HaI B ¢ (b) 21 3t B

(c) 16 RIaR @ (d) 25 fevrra @y

sﬂﬁﬁaﬁqwa@m@gmaﬂm
3TEBN el &7

(a) STAEREH (b) &

(c) ¥farer (@) o

SR . R Rl el # a wggen
FRAAME-

(a) 40 S¥feT (b) 60 S¥fee

(c) 70 TNge (d) 80 S¥i1et a 3iferes
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

- (b) Mercury

Polluti iver is inc
, ution of Ganga river is increasing mainly

due to the release of th i
he e following into it :
(a) Municipal and industrial sewa%:amo -
(b) Nuclear wastage |
(c) Forest wastage
(d) None of the above
Biological treatment of ion i
J water poll
with the help of : SRS

{_+4) Phytoplanktons  (b) Lichens

(c) Fungi -(d) None of the above
Herbicide DCMU kills weeds by :

(a) Inhibiting respiration

(b) Inhibiting cell division

(c) Inhibiting CO, uptake l/‘

(d) Inhibiting NO3 uptake :
Agricultural discharges are mainly compound
of : '

(a) Sulphur oxides  (b) Nitrogen oxides

(© Carbon oxides (d) Pesticides’

One of the important indicators of water quality

IS :
(a) BOD L—"  (bcoD

(c) Total solids (d) pH

In Ganga, BOD values on an average are
maximum at :

(a) Rishikesh (b) Haridwar

(c) Allahabad (d) Patna

The chief sources of Nitrogen oxides are :

(a) Industrial Chimney wastes

(b) Thermal power stations '

(c) Automoktiles
(d) Agrochemicals *
The chemical that
destruction of ozone laye

surface is :
(a) Carbon mono-oxide

contributes  to the
r above the earth’'s

h ==

g is not correct match ?

(c) Chlorofluoro carbon
(d) Sulphur dioxide
Which of the followin
(a) Acid rain-H,S04

(b) Global warming-CO2
(c) Ozone layer-Chloroﬂuoro carbon

(d) Greenhous€ effect-SO2
Rem is a unit of :

(a) Noise _ '

(b) Radioactivity i
(c) Thermal shock.

(d) Chemical toxicity

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

ot grer AT B |
(a) FRaiferaeT o St aifed Ael |
(b) I 3o

(c) aira M

(d) v o & B T
ﬁmméﬁmmﬂgﬁaﬁ
%— | .
(3)15@??333:{ (b)gﬂgéﬁq . |
(c) DI (d):qura’ﬂﬁ@fa?rsf:ré"f

Wﬁm@mﬁﬂwmé GGz
(a) ST FATE (b) BT FerTorT A&

(c) CO, ot 3@ (d)NO3 DY I CASTES

| qsﬁ%ﬂéag@méaﬁ?tﬁ%‘—

(a)wafmgﬁﬁ
(b)mg@aqaﬁawsa}rés

(c) B SiTaIgEd &

(d) PICATIS B
ﬁﬁmrwwww%‘—

(a) A& (b) T (0) PeT O (d) ar-gd
ﬂmﬁéﬁsﬁé‘raﬁmaﬁzﬁnmﬁ%‘—
(a) T A byeRerd .
CEUGEEES: (d) TeAT H

g oM SifTgs & & WId &=

(a) 3t femelT & aved

(b) et UfaR e

(CEIMEIEIES]

(d) BT BiHdT

gedl &) A & FWR G U B T A H
UEIadH AT - :

'(a)aﬂétm‘(ﬁaﬁaﬂeg\ﬂ
(b) AR
(c) TARITART BHIET
_ g;wggﬁmnsgﬂ
H A BH-T1 & Yo e
(a) B 379 | Hggé?
(b) Telaet arfifT - co, 4
(c) 35 Tag - FERITER
@ fEmEE - so, A
X 5T &~
e (b) TR

(C) UV 9ites oy (d) IR foar &
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76.

Bad ozone occyrs in: :
(a) lonosphere (b) Troposphere L—"
-(c) Stratosphere (d) Exosphere
- Ozone hole was first detected in :
950 (b) 1960 () 1970 (d) 1980
An increase in_the atmospheric level of
automobile exhaust gases does not lead to :
(@) Pb pollution
(b) Particulate air pollution
(c) O3 pollution
{d) O; depletion _
Among the following environmental pollutants
. which has the problem of biomagnification ?
(a) SO, P (b) Hg fungicides |+
(©OzandCO,  (d)NO,; -
Sulphurous smog is also known as :
(a) Photochemical smog
L A5y London smog )
(¢) Los Angeles smog
(d) Urban smog

77.  The historic Earth Summit held at Riq, Brazil in
June 1992 is known as :
@UN.IDO.  (b)UNESCS.
|_(=rUN.CE.D. (d) UN.F.CC.
78.  Physionomic methods of study of plant
communities were given by :
(a) Cowles " (b) Raunkiaer{__—1"
(c) Flahault (d) Post
79.  Which of the following aquatic ecosystem
parallels with tropical rain forests in net primary
productivity ? ‘ ,
X (a) Open ocean (b) Lakes
t_Ac/Estuaries (d) Continental shelf
80. In India maximum fuel wood is consumed jn, -
(a) Rajasthan (b) Madhya Pradesh
ue)futtar. Pradesh  (d) Andhra Pradesh
Producers are ;

> B

82.

(a) Green trees

(b) Green algae

(c) Both (a) and (b)\_—~7

(d) None of the above

Relaticnship in an ecosystem can be
through : |

(a) Pyramids of energy

(b) Pyramids of biomass

¢) Pyramids of numbers

((di All of the above \L—""

depicted

74.

75.

. 76.

77.

78.
79.

80

81,

82,

(a) SFRBIAR RI '
(ZHWWI* (d) TR 3§ |
el AR S # B BT IaT T T~
(a) 1950 A (b) 19601‘-‘{ | 4
(c) 1970 (d) 1980 % . E
aﬁama@aﬁﬁmﬂﬂ’rasmmuﬂumﬁm j
¥ =78 g 8- ; | ,.
(a) e SrgoT (b) BTN T g
(c) 3N guoT (d)mshqam@ -
AT AR Bt e fose 22
(a) SO, (b) Hg BaTas
(c) O3 3R CO, (d) NO, .
R WA B T A e &-

(a) WICIBEG AT (b) eaT ST
() ciT-Ufoie WM (d) 91ey <
1 1992 B §isiia & Rar F 89 awy
Qe T BT dEd g-
(a) 90 T=10 3130 S0 30
(b) 0 TH0 30 THO 0 3M0
(c) g0 &0 M0 o o

(d) 90 &0 w0 Mo o |
I SHETT & JeRe & fpfraiiie gt 8-
(@) PEeRT (b) IBFFR A

() T ¥ (d) IR

M= 4 ¥ e St qiRRefaer @ 3
PRI a9t o 3 <oy syesire e 8 &2
() gem g (b) s0er

COUES . () gcivea 90
AR W STGRY 31l Serr crepdy s 2t -
(a) TSR (b) \eg 9T §

(€) IR waer (d) 3%y wewr A

JdqEE g~ .

(@) R Iz gty
(©) (@) T (b). A=t
UH

(b) & Staret :
(d) IR F A P T
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83. Which plant is : '
o A s referred to as rolling 83, R ey @ Afem E'fmqﬂg? el Al 87
(a) Cactus (b) Bamboo {___, (a) smTG1t (b) @RI :
(c) Hydrila - (d) Volvox (c) er3fien (d) afeara¥
84. (Sa);ngcology Is the study of : 84. G qiRRufeab Y #-
- (b) lncc)iriCirg:lel;y in relation environment ¢__—7 (a) GTERYT &b I A e o
(c) Environment (b) aafett @1
(d) Water (c) araTaxoT &I
85. The primary source of energy in (d) 3TcT &1 '
is - gy in an ecosystem 5. : 4 i 5 o1 A 2l 2-
Ea)) gurrllight | Eg; /(\31I_ucose (a) G @ e (b) 7@3{
¢) Portein P (d) T '
86. The conversion of ammonia to nitrite and then L Fgé;:ﬁm el GIRT 3T BT AFLIRT
to nitrate by microorganisms present in the soil ‘86' el K : = e &
is called : 3k fipT Argge @ aae
__taf Nitrification ~ (b) Ammonification (a) TEEMBSET  (h) FHCAISDIT
(c) Nitrate reduction (d) None of the above (o) TEee Reagm (d) IR ¥ 3 DS el
87. ri;low many components do an ecosystem g7,  qRReIR a‘ﬁ%ﬁﬁﬁﬁmﬁa%?
ave : , g
(a) Three (b) Four YcrTwo  (d) Five @@ @I © a (dz .
88. Which of the following occupies maximum  88. ﬁﬂﬁﬁmﬂaf%a? &1 i<l HRd H &
percentage of the total forests area of India ? (a) 3w Hicasa 3ms qvfﬂTE'ﬁﬂa':f
(a) Tropical moist deciduous forests (b) 391 Hicaed b gofqrar &9
(b) Tropical dry deciduous forests L—" (c) 3UT Hieaed [ WeAEER
(c) Tropical dry evergreen forests (d) T8 U <oled ad
(d) Littoral and swamp forests . go. T 2002 fivg wNad fawr wEe (WSSD)
89. World Summit on Sustainable Development -
(WSSD) was held in 2002 in : . Y : 3
(a) Rio de Janeiro  (b) Kysto @RI (O) ST
A1) Johannsburg  (d) Copenhegen _ (o) e A @ DI H - -
90. Maximum endemic species among Indian gg, TRA Stafafderdn ¥ waiferes voafies wemfaat 8-
biodiversity occur are : . (a) 3gAars (b) m@ﬁﬁu
%) Angiosperms  (b) Gymnosperm ) Yaa  ° (d) SREwIRCH
L/g; A'Qz‘e (d) Pterid?p "o 91, RV IOT -
i ion is characteristic of. g . .
91. Stratsﬁcatlo'n iscC R~ R (a) THRIRET ; (b) ST TR T
(a) Population (b) B :
(c) Ecosystem (d) Biosphere (c) MRRRIfeED! T BT (d) Siamose o
g2. Presence of which pollutant ‘n the drinking 92, HAWFENfRfET O & gt § fBw TS B
" water causes methemoglobinemia ? IR & HROT B &2
Nitrate (b) Methane ove (a) TG (b) WA
(c) Sulphate , (dgc[zllz:ifetshzsre than one (c) Siewhe . (.d) IRIa wift
93.  Which of m? f(')rlllzv:zguatic ecosystem ? 93.  SFefia wRRefreb ot o et 3 Y B e <Y ey
i S| . :
tropg:fl c:‘:lfa (b Fish ZIihd Tae W arrar &2
(a) fles (d) Frog . (@) TR (b) TBE (o) deewt () Ve
(c) Bee ver in the world occurs in = 94, IR ¥ 31ty g e
94, Maximum forest O b ropical zone _ Brar g-
. N ical zone (b) Su p (a) I=7 miﬂ?} &}3 (b) 39-3wy W&Eﬁu
op d) Boreal zone &
(¢) Temperate zone () Qo &7 (o) e arw
e S —
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95.  Largest forest cover in India is presentin : 95. Wﬁmrﬂﬁﬂﬂmﬁm 8-
L/éze:l;aru(;fchal Pradesh (b) Orissa ' ,,(a)wmﬁ (b) 35T H .
5. Whicr? fya Pradesh. ((_i) Maharashtra © ez v & (d)qgmg;f{ .8
of the following is known as tree of _ . 1 U 3
farmers in Punjab ? : ~ 96. Wﬁﬁﬂﬁ@ﬁiﬁmﬂ > el Sl &? |
(2) écac:a (b) Dalbergia | (a) UHiTrAT (b)
Eucalyptus (d) Albizzia T d) efeafssran
97. Z}/l;lrc]grgi;th?e following is a conventional source ia g:rﬁﬁa%h—w W(H;Wmmg?
\/?)Wind . (b)Sun (a) & (b) X
c) Natural gas (d) Ethanol ’ (c) vl 4 (d) 3T
98.  WHich of the following is an alternative source P 3 T P37 J31t BT dobfeds AT 82
of energy ? 98. -
(a) Coal (b) Oil (a) DrICT (bycer
L@ Biodiesel (d) Hydropower (c) ST CGEELRIER
99." Maximum number of endemic plant species 99. Uil qrey Ffadl & Aiferdan e B 2- -
occur in : ; 3 . Y .
. (a) Canary (b) Madagascar (a)ﬁ’é (b)ﬁgT . A
&f Hawaii «Fiji (c) &aré A RS .
100. One of the global nottest hot spots of 4100. uRa ¥ Safafdedar &1 vd W glexe &lc Wit
biodiversity in India is : . y ~ :
(a) Indo-Gangeiic Plain o \ e
) Western Ghats (@) $USI-THIT 7HGCT - (b) GIRTHT UIC
(c) VWestern Himalayas (c) Ty femera  (d) OR god
(d) Thar Desert b '
Answersheet
.( 2@ 3(d) 4@ 5 ® 6@ 7@ 8@ 9 (b 10. (a)
11. ©) 12. () 13. () 14. (b) 15. (d) 16. () 17. (d) 18. (@) 19. (d) 20. (d)
| 21. (b) 22. (a) 23. (c). 24. (d) 25. (a) 26. (a) 27. (b) 28. (d) 29. (c) 30. (b)
.31. () 32. (a) 33. »(c) 34. (b) 35 (c) 36. (a) 37. (@) 38. (a) 39. (b) 40. (c)
41. (d) 42. (b) 43. (d) 44 (b) 45. (a) 46. (b) 47. (a) 48. (b) 49. (b) 50. (d)
51. (a) 52. (b) 53. (c) 54. (d) 55 (a) 56. (c) 57. (c) 58. (b) 59. (c) 60. (d)
61. (d) 62. (a) 63. (@) 64. (c) 65. (d) 66. (a) ' €7. (c) 68. (c) 69. (c) 70. (d)
71. (b) 72. (b) 73. (@) 74. (d) 75 (b) 76. (b) 77. (c) 78. (v) 79. (c) 80. (¢
81. (c) 82. (d 83. (b) 84. (a) 85 (a) 6. (a) 87. (c) 88. (b) 89. (c) 90. (@
91. (b) 92. (a) 93. (b) 94. (a) 95. () 96. () 97. (c) 98. (c) 99. (c) 100. (b)
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